Efficiency vs Dxy(PV)
0.5

d
T

=25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

o
|

—=— DQM_TT_original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
I Efficienc] —— DQM_TT__mod_modelsdeep_something3

I 1.!|n||w I
=

Rl |\|| .|||||\
002040608 1
TP dxy(PV) (cm)

2 *Q i ||u | i

g ”U” ”}Uu’ﬂ "\Wulﬂ
iyl
:': |\|| i 4

1-0.8-

—O

X0.18F
° E
20.16F
5~ F
S0.14F
g F :
o — :
So.12F ; {
3 E . .
0.1+ Rl
0.08fF Fr-HiHs
0.06f-- -4 {-HHl-f-+
0.04F-- <-4 415t
0.02F-- v Ilp 1+ - -
o OF .
= E
) i
0.9
0.8} ! ! .
=30 -20 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

o
>
Ul

0.35]
0.3]

efficiency vs dz(PV)
o
N

b

Ratio
-
i
T

T T
-1 -0.5 0 0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


